Prototypes to production runs

120 Central Street Stoughton, MA 02072
Tel: 781-341-3260

Fax: 781-341-4329
Contacts:

Mtodaro@escinc.biz

Mlevine@escin.biz

Company Punch & Die

Tooling list


mailto:Mtodaro@escinc.biz
mailto:Mlevine@escin.biz

Round Tools

Size Sta. Size Sta. Size Sta. Size Sta.
0.041 B 0.199 B 0.443 B 0.984 B
0.043 B 0.201 B 0.453 B 1.000 B
0.047 B 0.203 B 0.460 B 1.015 C
0.063 B 0.206 B 0.469 B 1.031 C
0.064 B 0.209 B 0.484 B 1.062 C
0.067 B 0.213 B 0.490 B 1.078 C
0.070 B 0.218 B 0.500 B 1.093 C
0.076 B 0.221 B 0.504 B 1.109 C
0.079 B 0.228 B 0.516 B 1.125 C
0.081 B 0.234 B 0.531 B 1.140 C
0.086 B 0.238 B 0.547 B 1.156 C
0.090 B 0.242 B 0.551 B 1.172 C
0.093 B 0.246 B 0.562 B 1.187 C
0.098 B 0.250 B 0.578 B 1.203 C
0.100 B 0.253 B 0.594 B 1.218 C
0.104 B 0.257 B 0.598 B 1.250 C
0.106 B 0.265 B 0.609 B 1.265 C
0.110 B 0.272 B 0.625 B 1.281 C
0.113 B 0.277 B 0.633 B 1.312 C
0.116 B 0.281 B 0.641 B 1.344 C
0.120 B 0.290 B 0.656 B 1.375 C
0.122 B 0.295 B 0.672 B 1.381 C
0.125 B 0.297 B 0.687 B 1.406 C
0.128 B 0.302 B 0.703 B 1.421 C
0.131 B 0.308 B 0.719 B 1.437 C
0.133 B 0.312 B 0.734 B 1.468 C
0.138 B 0.316 B 0.750 B 1.484 C
0.144 B 0.323 B 0.766 B 1.500 C
0.150 B 0.328 B 0.775 B 1.540 D
0.152 B 0.332 B 0.781 B 1.575 D
0.154 B 0.339 B 0.787 B 1.625 D
0.159 B 0.344 B 0.797 B 1.650 D
0.160 B 0.348 B 0.805 B 1.750 D
0.161 B 0.358 B 0.812 B 1.888 D
0.166 B 0.368 B 0.828 B 1.969 D
0.172 B 0.375 B 0.843 B 2.000 D
0.177 B 0.380 B 0.859 B 2.062 E
0.180 B 0.386 B 0.875 B 3.000 F
0.185 B 0.390 B 0.891 B 3.031 F
0.187 B 0.397 B 0.906 B

0.189 B 0.406 B 0.922 B

0.191 B 0.413 B 0.938 B

0.194 B 0.422 B 0.953 B

0.196 B 0.438 B 0.969 B



Mark
Oval


Oval Tools @D
Oval Size | Station Oval Size Station Oval Size Station
.030 x .250 B 125 x .625 B .169 x .250 B
.032x.250 B 125 x.750 B 169 x .331 B
.050 x .230 B 125 x .875 B .170 x .800 B
.054 x .750 B 125 x .875 D 171 x.375 B
.060 x .180 B .125 x 1.000 B .171 x .500 B
.062 x .250 B 125 x1.312 C 172 x .203 B
.062 X .562 B .125 x 1.500 C 172 x.250 B
.062 x .750 B 126 x .189 B 172 x .343 B
.063 x.125 B 128 x .189 B 172 x .406 B
.068 x .125 B .128 x .203 B 172 x .437 B
.075 x .348 B 128 x.218 B 172 x .625 B
.075 x .425 B .130x.250 B 177 x .281 B
.075 x 1.250 C .131 x.500 B 177 x .625 B
.080 x.190 B 136 x .160 B 177 x .750 B
.080 x .375 B 136 x .281 B 178 x .226 B
.093 x .187 B 136 x .375 B 178 x .296 B
.093 x .625 B .140 x .187 B .180 x .204 B
.093 x .700 B .140 x .204 B .180 x .315 B
.093 x 1.000 B .140 x .220 B .180 x .406 B
.093 x 1.000 C .140 x .250 B 182 x.250 B
.096 x .125 B .140 x .450 B 187 x .234 B
.096 x .196 B .140 x .650 B .187 x.250 B
.098 x .500 B 147 x 177 B 187 x .312 B
.100 x .200 B .148 x .200 B .187 x .375 B
.100 x .250 B .150 x .275 B .187 x .437 B
.100 x .380 B .156 x .187 B .187 x .500 B
.109 x .380 B .156 x .203 B .187 x .562 B
.110x .185 B .156 x .250 B 187 x .625 B
113 x.125 B .156 x .281 B .187 x .750 B
114 x .163 B .156 x .310 B .187 x .875 B
.120x.170 B 156 x .312 B .187 x 1.000 B
120 x.218 B .156 x .375 B .187 x 1.688 D
121 x.135 B .156 x .406 B .188 x .218 B
125 x .156 B .156 x .437 B .193 x.320 B
125 x .187 B .156 x .500 B .196 x .250 B
.125 x .203 B .156 x .625 B .196 x .380 B
125 x.250 B .156 x .750 B .196 x .500 B
125 x .281 B 161 x .466 B .196 x .625 B
125 x .312 B .161 x .600 B .202 x .937 B
125 x .375 B .163 x.185 B 203 x .263 B
125 x .437 B .166 x .196 B 203 x .312 B
.125 x .480 B .166 x .366 B .203 x.350 B
.125 x .500 B 169 x .234 B .203 x.380 B




Oval Tools D
Oval Size | Station Oval Size Station Oval Size Station
.205 x .400 B 250 X 1.125 C 406 X .656 B
.209 x .437 B 250 X 1.250 C 422 X.940 C
.210 x .500 B .250 X 1.250 D 437 x .500 B
213 x.375 B .250 X 1.500 D 437 X .625 B
218 x.278 B .250 X 3.000 F 437 X .656 B
218 x.300 B .257 X .500 B 437 X 2.000 E
218 x .312 B .265 X .406 B 460 X 2.125 E
218 x.325 B .266 X .360 B 465 X .562 B
218 x .343 B 270 X .840 B 468 X .500 B
218 x .375 B 276 X .394 B 476 X .630 B
218 x .406 B 281X .375 B .500 X .875 B
218 x .418 B 281 X.390 B .500 X 1.000 B
218 x .437 B 281 X .406 B .500 X 1.130 C
218 x .472 B 281 X.500 B .500 X 1.312 C
218 x .500 B 281X .531 B .500 X 1.500 C
218 x .687 B 281 X .562 B .504 x .700 B
218 x.750 B 281 X .656 B .505 X .552 B
.218 x 1.000 B 281 X.750 B 512 x.708 B
.218 x 1.000 C .281 X 1.000 B 512 x2.125 E
218 x 1.500 C .290 x 1.790 D .520 X 1.000 C
.218 x 2.000 C 296 X .437 B .562 X 1.080 C
228 x .406 B .297 X .500 B 562 X 1.250 C
230 x.312 B 312 X.375 B 570 X .625 B
231x.375 B 312 X.500 B 625 X .860 B
234 x .343 B 312X .625 B .625 X 2.000 E
234 x .437 B 312 X.750 B 688 X.938 B
234 x.750 B .312 X 1.000 C .700 X .950 B
236 x .787 B 312X 1.250 C 1.260 x 1.386 F
241 x .437 B 325 X .415 B
244 x 285 B .340 X 1.500 C
246 X .343 B .343 X .500 B
250 x .312 B 354 X.750 B
250 x .375 B 360 X .575 B
.250 x .406 B .365 X 1.302 C
.250 x .437 B .375 X .500 B
.250 x .450 B 375X .625 B
.250 x .500 B 375 X.750 B
250 X .625 b .375 X .850 B
.250 x .750 B .375 X 1.500 C
.250 x .812 B .375 X 2.000 E
.250 x 1.000 B 376 X .437 B
.250 x 1.070 B .387 X.500 B
.250 X 1.100 C 406 X .531 B




Rect Tools

Rect Size Station Rect Size Station Rect Size Station

.031x.380 B .095 x .275 B .169 x .250 B
.032x.125 B .100 x .100 B .175x.175 B
.040 x .160 B .100x .276 B 187 x .187 B
.040 x .180 B .100 x .295 B .187 x .485 B
.040 x .240 B .100 x .437 B .187 x .985 B
.043 x .500 B .102 x .250 B .187 x 1.000 B
.043 x 1.000 B .106 x .136 B .187 x 1.000 C
.050 x .375 B .107 x .312 B .187 x 1.250 C
.050 x .500 B .109 x .600 B .187 x 1.500 C
.058 x.129 B .125 x.125 B .187 x 1.500 D
.060 x .375 B .125 x.150 B .187 x1.750 D
.060 x .500 D .125 x.250 B .187 x 2.500 F
.060 x 1.625 D .125x.312 B .187 x 3.500 H
.062 x .062 B .125x.375 B .189 x .520 B
.062 x.125 B .125 x .500 B .190 x .310 B
.062 x .156 B .125 x .500 D .190 x .330 B
.062 x .218 B .125 x .560 B .200 x .200 B
.062 x .500 B .125 x .625 B .200 x.270 B
.062 x .625 B 125 x.750 B .200 x .580 B
.062 x .750 B .125 x .875 B .203 x 1.062 C
.062 x .906 B .125 x 1.000 c .215x.215 B
.062 x 1.000 B .125 x 1.000 D .218 x.218 B
.062 x 1.000 C .125 x 1.500 D .218 x .330 B
.062 x 1.000 D .125 x 2.000 E .218 x.750 B
.063 x .500 B .125x2.750 F .218 x 1.085 C
.065 x.375 B .130x.330 B .220 x 2.688 F
.065 x .385 B .130x.385 B 222 x .512 B
.066 x .600 B .132 x .507 B 224 x .494 B
.070 x .260 B .140 x .390 B .228 x .585 B
.070 x .295 B .140 x .812 B .230x.230 B
.075x.330 B 141 x.141 B .230 x.540 B
.075x.519 B .141 x .342 B .236 x .606 B
.077 x .750 B .142 x .239 B .240 x .410 B
.080 x .359 B .150 x .150 B .245 x .616 B
.080 x .375 B .150x .260 B .250 x.250 B
.085 x.210 B .150 x .806 B .250x.372 B
.090 x .150 B .150x 1.375 c .250 x .500 B
.090 x .375 B .152 x .437 B .250 x .540 B
.090 x .560 B .156 x.281 B .250 x .625 B
.090 x .910 B .156 x .750 B .250 x .630 B
.093 x.750 B .156 x 1.000 c .250 x .680 B
.093 x 1.200 C .160 x .340 B .250 x 1.000 C
.093 x 1.200 D .160 x .810 B .250 x 1.000 D



Mark
Rectangle


Rect Tools [

Rect Size | Station Rect Size | Station Rect Size
.250 x 1.500 D .375 x.500 B 562 x.562
.250 x 1.750 D .375x.563 B 562 x .687
.250 x 2.000 E 375 x.625 B 562 x.718
.250 x 2.500 F .375 x .875 B 562 x.925

253 x.253 B .380 x .961 C .562 x 1.000
.255 x .430 B .382x.768 B 585 x.715
264 x.299 B .390 x .615 B .590 x .590
270 x .295 B .400 x .600 B .593 x 1.020
270 x .616 B 400 x .707 B .607 x .615
275 x .300 B 406 x .406 B .608 x .608
275 x .650 B 406 x .812 B 615 x.750
281 x.281 B 410 x .600 B 625X .625
281 x.531 B 418 x .707 B 625 x.750
281 x.625 B 423 x .614 B 625 x 1.100
292 x .340 B 437 x 437 B .648 x 1.095
299 x .646 B 437 x .875 B .650 x .900
.300 x .470 B 437 x .875 C .655 x .812
.300 x .525 B 440 x .500 B 687 x.750
.300 x .600 B 440 x .740 B 689 x1.750
.300 x .815 B A48 x 625 B .705 x .705
312 x.312 B 449 x .806 B .709 x .787
312 x.474 B 450 x .850 B .709 x 1.687
312 x.500 B 468 x .875 B 720 x .780
312 x.625 B 470 x.590 B 725 x .830
312 x.656 B .480 x 1.075 C .750 x .750
312 x.705 B .500 x .500 B .750 x 1.062
312 x1.250 C .500 x .500 D .750 x 1.062
.320 x.990 C .500 x .600 B 770 x.770
.325x.325 B .500 x .750 C 827 x .827
.330x.548 B .500 x .850 C .843 x .890
.335x.335 B .500 x 1.715 D 846 x 1.750
.335x.656 B .500 x 2.500 F .861x1.018
.340 x .460 B .505 x .552 B .866 x 1.190

.330 x.812 BL B .520 x.750 B .875 x .875
.344 x .875 B .531x.531 B .890 x 1.000
345 x .345 C .531x.625 B .895 x .895
.350 x.730 B .531x.660 B .953 x.953
.353x.353 B .531x.750 B .968 x .968
.355 x.500 B .531x.937 C .970 x .970
.360 x .600 B .540 x .560 B 1.000 x 1.000
.360 x 1.000 C .540 x 1.000 C 1.000 x 1.000
.366 x 1.440 C .550 x 1.000 C 1.250 x 1.500
375 x.375 B 552 x .650 B 2.000 x 2.000
.375 x .406 B .560 x .680 B

Station

mM OO O o000 0o00O 0000000000 oo 0co0o0O000n0m™ P T TPT DO OO P PO



Mark
Rectangle


Radius Corner Rect. -

Rect Size | Cnr Rad Station Rect Size  |Cnr Rad |Station
.120 x .280 0.039 B .600 x .750 0.125 C
.180 x .400 0.06 B 615x1.156 | 0.062 C
225 x .375 0.020 B .660 X .660 0.062 C
230 x.280 0.030 B 690x1.000 | 0.062 C
.315 x.315 0.078 B .700 x .926 0.030 C
350 x .470 0.032 B 710x1.741 | 0.011 D Blanking
.390 x.760 0.060 B .800x1.100 | 0.140 C
400 x .760 0.080 B .860x1.100 | 0.062 C
406 x .750 0.062 B 875x1.125 | 0.125 C
440 x .485 0.062 B 900x1.200 | 0.234 C
450 x .750 0.060 B .900x1.250 | 0.060 C
450 x .750 0.120 B 906x1.218 | 0.187 C
.500 x .500 0.062 B
.500 X .625 0.030 B
.500 x .844 0.062 C
526 X .526 0.050 B
.531x1.125 | 0.100 C
561x1.241 | 0.060 C
562x1.032 | 0.093 C
.570x 1.250 0.060 C Blanking
.580 X .660 0.060 B
.593 x .937 0.062 C




Single D Tools X=Dia. Y=Width =

X-Dims.| Y-Dims. |Station X-Dims. |Y-Dims. [|Station 7X-Dims. Y-Dims. Station

0.144 0.129 B 0.455 0.432 B | 0.780 0.700 B
0.195 0.175 B 0.475 0.448 B | 0820 0.760 B
0.250 0.220 B 0.503 0.475 B | 0871 0.841 B
0.252 0.234 B 0.505 0.437 B | 0.887 0.827 B
0.252 0.242 B 0.505 0.478 B | l.o010 0.969 C
0.254 0.238 B 0.516 0.488 B Y 0.950 C
0.264 0.234 B 0.545 0.490 B | 1031 0.968 C
0.265 0.234 B 0.568 0.536 B | 1130 1.081 C
0.283 0.266 B 0.580 0.555 B | 1150 1.100 C
0.316 0.294 B 0.585 0.564 B | 1255 1.206 C
0.325 0.298 B 0.625 0.390 B | 1.260 1.225 C
0.344 0.281 B 0.625 0.588 B | 1.282 1.203 C
0.375 0.343 B 0.630 0.572 B | 139 1.330 C
0.377 0.270 B 0.635 0.595 B
0.377 0.359 B 0.656 0.546 B
0.378 0.346 B 0.656 0.609 B
0.380 0.352 B 0.682 0.559 B
0.382 0.348 B 0.700 0.667 B
0.390 0.335 B 0.713 0.682 B
0.390 0.355 B 0.757 0.732 B
0.437 0.421 B | 0.760 0.700 B
0.443 0.410 B 0.762 0.724 B




Double D Tools

X =Dia. Y=Width

X-Dims. |Y-Dims. [|Station

0.180 0.120 B
0.230 0.130 B
0.265 0.219 B
0.312 0.250 B
0.323 0.250 B
0.328 0.265 B
0.340 0.270 B
0.344 0.250 B
0.350 0.316 B
0.360 0.330 B
0.375 0.203 B
0.378 0.335 B
0.380 0.300 B
0.386 0.315 B
0.394 0.325 B
0.401 0.351 B
0.406 0.312 B
0.437 0.375 B
0.442 0.400 B
0.453 0.385 B
0.476 0.423 B
0.500 0.375 B

X-Dims. |Y-Dims. [|Station 7X-Dims. Y-Dims. |Station

0.500 0.468 B 0.875 0.770 B
0.515 0.450 B 0.875 0.797 B
0.564 0.502 B 0.875 0.812 B
0.597 0.535 B 0.880 0.755 B
0.625 0.540 B 1.000 0.875 B
0.625 0.580 B 1.093 1.030 C
0.631 0.571 B 1.125 1.000 C
0.638 0.600 B 1.130 1.058 C
0.640 0.540 B 1.140 1.090 C
0.642 0.552 B 1.187 1.030 C
0.687 0.625 B 1.250 1.150 C
0.689 0.572 B 1.320 1.120 c
0.716 0.657 B 1.357 1.156 C
0.750 0.672 B 1.370 1.173 C
0.755 0.635 B 1.375 1.156 C
0.765 0.640 B 1.380 1.200 C
0.781 0.640 B

0.781 0.687 B

0.815 0.700 B

0.850 0.670 B

0.866 0.758 B

0.845 0.840 B




& ¢
S

L/
v \

f = g
Keyway Tools Hex Tools

Dia. Tab Width | Tab Length Size Station
0.250 0.030 0.020 0.125 B
0.260 0.042 0.030 0.173 B
0.261 0.050 0.030 0.250 C
0.473 0.063 0.030 0.281 D
0.484 0.063 0.030 0.312 B
0.497 0.050 0.062

0.631 0.068 0.037

g

Double Keyway Tools

Dia. Tab W Tab L

0.875 0.050 0.018




4-WAY Corner Radius

SQ Size Radius Web Size Leader SQ Size Radius Web Size Leader
0.2500 0.0315 0.1870 none 0.8750 0.2500 0.2500 0.0620
0.2810 0.0620 0.0930 0.0320 0.9370 0.2810 0.2500 0.0620
0.5000 0.0620 0.2500 0.0620 1.0000 0.3750 0.2500 none
0.3120 0.0625 0.1870 none 1.2600 0.5000 0.2000 0.0300
0.5600 0.0930 0.2500 0.0620
0.3750 0.0940 0.1870 none
0.4370 0.1250 0.1870 none
0.6250 0.1250 0.2500 0.0620
0.5000 0.1250 0.2500 none
0.7500 0.1780 0.2500 0.0720
0.7500 0.1870 0.2500 0.0620
2-WAY Corner Radius
Size Radius Web Size Leader
.250 x .500 0.125 .062 & .250 0.062




Connector Cutouts = =
Width | Length | Radius | Station Width | Length | Radius | Station
0.363 1.085 0.109 B
0.412 0.765 0.125 B
0.449 0.806 0.132 B
0.450 0.806 0.083 B
0.450 0.875 0.140 B
0.450 1.134 0.083 C
0.465 1.375 0.140 C
0.480 1.000 0.083 C
0.480 1.000 0.132 C
0.500 0.812 0.083 B
0.513 0.647 0.080 B
0.513 1.200 0.083 C
0.513 1.400 0.083 C




«—1.9441

324

Typ . =

¥R 3 [ 7) o]
0. 125

l—o 1, 788
—
ol c:n—;m
O OO o—5F
—=-—I I-H-.ESD He x

Cluster Tools

1,259
2248
Tvp.
a3 D %&
. 375
/O Lo B R | Oﬁ
=125
1. 294
3248
Typ.
o 375
=, 156

jQDO
OOC:;{
ODOﬁ
3200

<2, 160



ITEM

NO. PART NUMBER

DESCRIPTION QTY.

1 XWMCDOCB14

UPPER RETAINER

1

2 XWMCDOCB13 PUNCH SHANK 1

3 XWMCDOCB12 UPPER STRIPPER 1

4 SHC00015 SOCKET HEAD CAP SCREW SPECIAL LOW HEAD STYLE M6x1 X 10 WITH 10MM DIAMETER X 1.5MM THICK 2
HEAD CLASS 10.9

5 XWMCDOCBO02 DIE 1

6 XWMCDOCB16 UPPER INSERT 8

8X ¢.160

150 2X

- .450 2X =~

150 2X ;‘f‘-

ONOION®

TOP DIE VIEW

(5. PRECISION
IRl TOOLING

mate.com

CUSTOMER | ELECTRONIC SHEET METAL CRAFTS | TOOLETCH# | 05202002
ACCOUNT # | 232004 XWMCDOCBO0O0
MACHINE | MURATA MOTORUM MARATHON C STATION CLUSTER
MATERIAL | ALUMINUM 040 (INSERT STYLE) FULLY GUIDED ROUND
USE w/ ETCH SET ASSEMBLY (INCLUDES; UPPER +
DATE | 05/05/2020 TEW LOWER)

Mate Precision Tooling ¢ 1295 Lund Boulevard ¢ Anoka e MN e 55303 e Phone 763.421.0230




-

MATERIAL TYPE = COLD ROLLED
MATERIAL THICKNESS = 0.1050
TONNAGE = 18.19

~— .B8940 ——

2X

.2980 ~— _ — . 2500 HEX
2X 8X

£ CIC
CIOCRCIG

. LENTERLINE LAYOUT

styce: MARZstation: E - ormensions: PUNCH  view: OIE ToTAL cLearance: O, 020  wmate rer: 1710104
DATE DRAWN:06/22/20068Y: JRS scate: 2. 000  Kpiercing CISAVE SLUG

/g\ coweany: ELECTRONIC SHEET METAL CRAFTS  #232@04% e+ no: 0B0BS098



(CUSTOMER : ELECTRONIC SHEET

URDER# : 3480117

\

SPRING LUADED <100 100

CLUSTER ASSEMBLY

TP Ule VIEW

DRAWN BY:BPB |DATE:12-15-88 |ScALE: NONE
TDDL#1298@916 MATE PUNCH AND DIE CO. 84
PRESS MODEL :(C-2000 ITEMITY . DESCRIPTION
STY/STA:T12/F | | PUNCH HOLDER
2 4 1.0 x 2.0 RED SPRINGS
; ; 3 4 M12 x 50 STR. BOLTS
I 4 | STRIPPER PLATE
== =\
TR 5 | SHANK
\ \ 6 | RETAINER
\ \
o ! ! 7 7 INSERTS
N < > P | |
N | | 8 | DIE
N/ ‘ ‘ ‘
A CAD GENERATED
:H// \\H: : : CADKEY VERSION 3.53-0RD
(\ /\ /\ /\ ‘ ‘
Sy CA (5)
R
e I e
! ! L |
S * ®
e e -
| | o ju//
| | [ |




Countersink Tools

4 Y ' Y
CUSTOMER:  ELECTRONIC SHEET METAL DEDICATED ROUND DOV CUSTOMER: ELECTRONIC SHEET METAL CRAFTS DEDICATED ROUND DOW
° COLNTERSINK B/C B5-29 - ° COLNTERSINK B/C B5-29
ALCOLNT 232004 SET-LP_INSTRUCTIONS ACCOINT #:__232004 SET-LP_INSTRUCTIONS
ETCH #: 01100113 ETCH #:_ 01100114
DATE. BL/14/10 MACHINE MODEL : MOT2 STATION: 112 B DATE. 1/14/10 MACHINE MODEL: MOT2 STATION:  112/8
DESIGNED BY:TEW IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: MILD STEEL | THICKNESS: .089 DESIGNED BY: DPS IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: MS THICKNESS: 089
1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH 10 BE ADJUSTED/SHIMMED TO SULT FORM. 1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH 10 BE ADJUSTED/SHIMMED TO SULT FORM.
2. FORNING SHOLLD BE THE LAST OPERATION PERFIRMED. 2. FORNING SHOLLD BE THE LAST OPERATION PERFIRMED.
TOP OF TANG TOP OF TANG
L L
i i
" I " I
1" " I "
" " " I
" " " I
1" " \ 1" " \
" " " I
SET ASSEMBLY LENGTH G PUNCH SET ASSEMBLY LENGTH G PUNCH
70 6.735C171. 1) | | T0 6.735 (171.1) | |
MINUS = MINUS =
MATERIAL THICKNESS MATERIAL THICKNESS
APPROXIMATE PRE-PIERCE = .309 APPROXIMATE PRE-PIERCE = 0 429
82° 90°
@.385 @.507
‘ < A i 4 1 ‘ < A i [ 1
o7 \———LQE o7 \——L¢>375
BLANK DIE BLANK DIE
De26A10048 112 B = D2BA10G48
\ J \ J
4 \ 4 \
CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND OOV CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND OOV
- ° COUNTERSINK B329-01 - ® COUNTERSINK B329-01
ALCOLNT #: 232004 SET-LP_INSTRUCTIONS ALCOLNT ¥ 232004 SET-LP_INSTRUCTIONS
ETCH #: 02081140 ETCH #: 03140113
DATE: 2/22/08 MACHINE MODEL: C-20 STATION: B DATE:3/20/14 MACHINE MODEL: MOT2 STATION: B
DESIGNED BY: LMW IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: MILD STEEL | THICKNESS: .188 DESIGNED BY: LMW IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: ALLMINLM THICKNESS: 280
1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH 10 BE ADJUSTED/SHIMMED TO SULT FORM. 1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH 10 BE ADJUSTED/SHIMMED TO SULT FORM.
2. FORMING SHOLLD BE THE LAST OPERATION PERFIRMED. 2. FORMING SHOLLD BE THE LAST OPERATION PERFIRMED.
T0P_OF TANG T0P_OF TANG
SET ASSEMBLY LENGTH SET ASSEMBLY LENGTH
10 5.86@ ( 148.8) 106.735" (171, 1)
MINUS MINUS
MATERIAL THICKNESS MATERIAL THICKNESS
MICRO-ADJUSTABLE MICRO-ADJUSTABLE
INVERTED DIE INVERTED DIE
@ 2% ® .27
: 82.0°
( 120.0°
| < | > | |
{ 3 { 3
I L I I L I
@ 128
@ 161
BLANK DIE BLANK DIE
\ J \ J




(CusTOvER ELECTRONIC SHEET METAL

ORDER #: 116-01-01

ETCH #: 24050141

DATE: 4/26/@5

DESIGNED BY: LMy | scaLe:noe

Countersink Tools

=

MATE PRECISION TOOLING

DEDICATED ROUND DOWI

COUNTERSINK B329-01
SET-LIP_INSTRUCTIONS

(CusTOvER ELECTRONIC SHEET METAL

ORDER #: 116-01-01

MACHINE MODEL : MOT2 STATION: B

ETCH #: 04050142

MATERTAL TYPE: ALLM. THICKNESS: 063

DATE: §4-26-05

DESIGNED BY: S | EEES

-

DEDICATED ROUND DOW

COUNTERSINK B329-01
SET-LIP_INSTRUCTIONS

=l

MACHINE MODEL : MOT 2 STATION: B

MATE PRECISION TOOLING

MATERTAL TYPE: ALLMINUM THICKNESS: 063

L. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

L. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TOP OF TANG

SET ASSEMBLY LENGTH
10 6.735 C171.1@)

MINUS
MATERTAL THICKNESS

APPROXIMATE PRE-PIERCE=.203 DIA.

@ 290

MICRO-ADJUSTABLE
INVERTED DIE

[<

‘ ==
oe— L

BLANK DIE

TOP OF TANG

SET ASSEMBLY LENGTH
T0 6.735 (171.10)

MINUS
MATERTAL THICKNESS

*APPROXIMATE PRE-PIERCE IS .208 DIA.

i B i

leo*

o m— L |

MICRO-ADJUSTABLE
INVERTED DIE

BLANK DIE

J

\

p

CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND OOV

ALLON] f 252000 w@ SET uEUE‘EEiE%DN& 8329°0]
ETCH #. 05152800

]ATil 5/1/15 M MACHINE MODEL : MOTORUM STATION: B
DESIGNED BY: LWY

| scaLe:noe

MATE PRECISION TOOLING

MATERTAL TYPE: ALLMINUM THICKNESS : 050

®

DEDICATED ROUND DOW
SET-LP_INSTRUCTIONS

N\
COUNTERSINK B/C B5-29

=

MACHINE MODEL : MOT2

STATION:  112/8

MATE PRECISION TOOLING

MATERIAL TYPE: AL

THICKNESS: @80

L. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

L. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE DVERALL LENGTH
2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

T0 BE ADJUSTED/SHIMMED TO SUIT FORM.

TOP OF TANG

SET ASSEMBLY LENGTH
T06.735 (171,1)

MINUS
MATERTAL THICKNESS

MICRO-ADJUSTABLE
INVERTED DIE

APPROXIMATE PRE-PIERCE=.156 DIA.

BLANK DIE

TOP OF TANG

SET ASSEMBLY LENGTH
T0 6.735 (1711

MINUS
MATERTAL THICKNESS

APPROXIMATE PRE-PIERCE = @.211

90°

@.279

|
w 1
ml
@ 161

\ PUNCH

BLANK DIE
112 B = DB2BA 10048




Countersink Tools

Mate Precision Tooling ® 1295 Lund Boulevard ¢ Anoka ¢ MN e 55303 e Phone 763.421.0230

4 \ 4 \
CUSTOMER:  ELECTRONIC SM DEDICATED ROUND DOV CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND OOV
ACCOLNT 1, _c32004 we serop et | oo ACCOUNT #._2J2004 - serop it | o0
ETCH #. 07071004 — ETCH #. 108070108 —
DATE: 7/12/@7 MACHINE MODEL: MOT2 STATION: 1128 DATE: B/17/07 MACHINE MODEL: MOT2 STATION: B
DESIGNED BY:JRS IXEALE NONE MATE PRECISION TOOLING MATERTAL TYPE: ALLMINLM THICKNESS : 063 DESIGNED BY: LMy IXEALE NONE MATE PRECISION TOOLING MATERIAL TYPE: ALLM. THICKNESS : .80
1. SHUT HEIGHTS AND NATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH T0 BE ADJUSTED/SHINMED TO SUTT FORM. 1. SHUT HEIGHTS AND NATERTAL THICKNESS VARTATIONS REGUIRE OVERALL LENGTH T0 BE ADJUSTED/SHINMED TO SUTT FORM.
2. FORMING SHOULD BE THE LAST OPERATION PERFIRMED. 2. FORMING SHOULD BE THE LAST OPERATION PERFIRMED.
TOP_OF TANG TOP_OF TANG
SET ASSEMBLY LENGTH SET ASSEMBLY LENGTH
06,735 171 1) 06,735 (171.18)
MINUS MINUS
MATERTAL THICKNESS MATERTAL THICKNESS
MICRO-ADJUSTABLE MICRO-ADJUSTABLE
INVERTED DIE INVERTED DIE
APPROXIMATE PRE-PIERCE=.154 DIA.
@ 225
@ 240 100.0° 82.0
047 < > )
| \ \ \ \
£ 3 C 3
f \ \ \ \
129
128 @
BLANK DIE BLANK DIE
\ J \ J
((CUSTOMER: ELECTRONIC SHEET METAL DEDICATED RIND DY B5729\
TTEM \ PART NUMBER \ DESCRIPTION ‘QTY. ACCOUNT 232004 © 7[DUNTER§INK
NO. — SET-UP_INSTRUCTIONS
1| xw4BD0B316 | UPPER INSERT [ ETCH #: 03090811
]ATE‘ 9/24/2@@9 MACHINE MODEL: MOT2 STATION :]
DESIGNED BY: COS IS[ALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: GALVANIZED | THICK.:.047-.059
1. SHUT HEIGHTS AND MATERTAL THICKNESS VARTATIONS REGUIRE OVERALL LENGTH T0 BE ADJUSTED/SHINMED TO SUTT FORN.
2. FORMING SHOULD BE THE LAST OPERATION PERFIRMED.
TOP_OF TANG
TOP OF TANG L —
" "
" "
" "
noon
SET ASSEMBLY LENGTH oo \
T0 6'73;3,,\52,751'1'“"’) SET ASSEMBLY LENGTH G- PUNCH
T06.735 (171.1) o
@\ MATERIAL THICKNESS NiNUs _
MATERTAL THICKNESS ﬁ
—_
APPROXIMATE PRE-PIERCE = ¢ .195
©.104
100° 120°
—_ @.270
©.175
f ! i}
‘
APPROXIMATE PRE-PIERCE = .125
BLANK DIE
D02BA 10048
CUSTOMER | ELECTRONIC SHEET METAL CRAFTS | TOOL ETCH # | 08194028
@PRE:'S“’N ACCOUNT # | 232004 XW4BD0B301
TOOLING | wecrine| muraTA 1148 STATION COUNTERSINK
MATERIAL | ALUMINUM_ 050 DEDICATED ROUND DOWN (INSERT
mate_Com USE wi ETCH TYPE) UPPER ASSEMBLY
DATE | 08/23/2019 JRS




Countersink Tools

4 \ 4 \
CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND DO CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND DOV
ACCOLNT ;232094 we serop et | oo ACCOUNT #._232004 - serop it | o0
ETCH 4. 09120841 — ETCH 409130107 —
DATE: 9/18/12 MACHINE MODEL : MOT2 STATION: 1128 DATE: 9/11/13 MACHINE MODEL : MOT2 STATION: 1128
DESIGNED BY:JRS IXEALE NONE MATE PRECISION TOOLING MATERTAL TYPE: M.S. THICKNESS : 060 DESIGNED BY:JRS IXEALE NONE MATE PRECISION TOOLING MATERTAL TYPE: M.S. THICKNESS : 048
1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM. 1. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
2. FORMING SHOULD BE THE LAST OPERATION PERFORMED. 2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.
TOP_OF TANG TOP_OF TANG
SET ASSEMBLY LENGTH SET ASSEMBLY LENGTH
10 6.735C171.1) 10 6.735C171.1)
MINUS MINUS
MATERTAL THICKNESS MATERTAL THICKNESS
MICRO-ADJUSTABLE MICRO-ADJUSTABLE
INVERTED DIE INVERTED DIE
@ 240 ﬂ 90° @ 230 ﬂ leg”
| | } | |
{ 3 { 3
I I I I
@ .138 @ 133
APPROXIMATE PRE-PIERCE = 0 .182 APPROXIMATE PRE-PIERCE = @ .175
BLANK DIE BLANK DIE
p— N N / \ J
CUSIOMER CLEC IRONLC SACCT MCIAL DEDL[SLEEEE%%NE oy B/C B5-29
— ® B TTEM
;EE,R”#‘W%B? ‘142! SET-LP_ INSTRLCTIONS o] PART NUMBER | DESCRIPTION [arv.
= u 1| xw2BD0B316 | UPPER INSERT [
BATE 10,140 LI\/I_I MACHINE MODEL : C-20 STATION: 1128
DESIGNED BY:JRS IS[ALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: M.S. THICKNESS : 089
L. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.
TOP_OF TANG
— T T TOP OF TANG
T T
" "
" "
TR
" "
" 1" \ SET ASSEMBLY LENGTH
Y PUNCH TO 6.735" (171,1mm)
SET ASSEMBLY LENGTH [ MINUS
70 5.860¢ 148.8) ! ! MATERIAL THICKNESS
MINUS =
MATERTAL THICKNESS
©.143
120°
@.303 90°
| ‘ ©.250
‘ f Ay i 4 1}
052 u >.128
PRE-PIERCE=. 177 PRE-PIERCE = .188
BLANK DIE
CUSTOMER | ELECTRONIC SHEET METAL CRAFTS | TOOLETCH# | 11160106
@PRE:'S“’N ACCOUNT # | 232004 XW2BD0B301
TooLI“c MACHINE | MURATA MOTORUM 112 B STATION COUNTERSINK
MATERIAL | ALUMINUM 083 DEDICATED ROUND DOWN (INSERT
mate_Com USE wi ETCH TYPE) UPPER ASSEMBLY
DATE | 11/11/2016 JRS
L Mate Precision Tooling * 1295 Lund Boulevard e Anoka ¢ MN e 55303 e Phone 763.421.0230



Countersink Tools

(" 3\
CUSTOMER: ELECTRONIC SHEET METAL DEDICATED ROUND DOV
ACCOUNT #: 232004 ° COUNTERSINK B329-01

- SET-UP_INSTRUCTIONS
ETCH #: 12120110
DATE: 12/12/12 MACHINE MODEL : MOT2 STATION: B
DESIGNED BY: LMW IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: MILD STEEL | THICKNESS: 050

2. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

1. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REBLIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

TOP OF TANG

SET ASSEMBLY LENGTH
T06.735 €171, 1)

MINU
MATERTAL THICKNESS

MICRO-ADJUSTABLE
INVERTED DIE

APPROXIMATE PRE-PIERCE=.178 DIA.

BLANK DIE




(CusTNER

ELECTRONIC SHEET METAL

ACCOLNT

232004

ETCH #:

3140109

DATE :

3/11/14

DESIGNED BY:JRS

| schie:noe

Bridge

@

[=Ad

MATE PRECISION TOOLING

LANCE & FORM
FO

RM-LP
SET-UP_INSTRUCTIONS

N\

1120F429-01

MACHINE MODEL: MOT2

STATION: D

Form Tools

ORDER #: 051

CUSTOMER: ELECTRONIC SHEET METAL

-01-29

ETCH #: 02022938

MATERIAL TYPE: M.S

THICKNESS ¢

030

DORAWN BY: JES | DATE: mz—?kmz‘ SCALE :NONE

LANCE AND FORM
FORM-LP 4FF429-02
SET-LP_INSTRUCTIONS
M WACHINE MODEL: C-2000 STATION: D
MATE PRECISION TOOLING | MATERIAL TYPE: C.R.S. THICKNESS : 074

ERLEWINGS

SHUT HEIGHTS AND MATERIAL THICKNESS VARTATIONS REGUIRE OVERALL LENGTH
. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TLRRET
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.
. PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION.
. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TO BE ADJUSTED/SHIMMED TO SUIT FORM

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH
TO6.735(171. 1)

MINUS
MATERTAL THICKNESS

R

475
To Sharps|
. |

+

.875 To Sharps

M6 x 20 Lg, FHCS
FHC13450

SOCKETT HEAD
SET SCREW
(SS850366)

SPRINGS (4)
(SRP32441)

INVERTED DIE

LOWER INSERT

STRIPPER PLATE

DIE BODY
WO20FLIBS

DIE SPRINGS
3/8 x 1.0 Lg.
SPR32547 (1)

RETAINING RING
MISg7738 (1)

BLUE

SET ASSEMBLY

LENGTH TO DIMENSION
FROM CHART MINUS
MATERTAL THICKNESS

NOTE: SHUT HEIGHTS
AND MATERTAL THICKNESS
VARTIATIONS REGUIRE
THIS LENGTH TO BE
ADJUSTED/SHIMMED

TO SUIT FORM

PRESS MODEL

MAGNUM 5000---
CENTRUM 3000
CENTRUM 25@0------ 5.860 (148.8)

CENTRUM 2000--
CENTRUM 1000-—
MAGNUM 1250
W-20----———
W-30-sgias e

W45-gxirse o

FLEXILASER-————--- 6.735 (171

L PUNCH HOLDER

[ -0
I I I
I | I
\ INVERTED DIE
SEE
125
[
f=r—+
For .074 thick material

DIMENSION
10>

6.735 (171
6.735 (171,

6.735 (171,
6.735 (171

5.860 (148.8)
5.860 (148.8)

-~ 5.860 (148.8)
-- 5,860 (148.8)
6.735 (171,

P

1 6735 on

LOKWER INSERT

STRIPPER PLATE

RETAINING RING

DIE BODY

DIE SPRINGS

INSERT RETAINING SCREW

NOTE :

FORMING SHOULD BE THE LAST OPERATION PERFORMED
PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION
DO NOT PASS THE WORKHOLOERS OVER THE LOWER FORM TOOL

STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE
DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL

WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE
WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TURRET




Emboss Tools

CUSTOMER: ELECTRONIC SHEET METAL
ORDER #: 041-01-01

ETCH #: 02030184

OATE: 2/11/03

(CusTOMER ELECTRONIC SHEET METAL

ACCOLNT #: 232004

ROUND EMBOSS

FORM-LP 4FE129-01
SET-UP INSTRUCTIONS

WACHINE MIDEL: C-2000 STATIN: D

ETCH #: 02134881

=

ORAWN BY: JRS DATE: 05/13/02 ‘ SCALE :NONE

MATE PRECISION TOOLING

MATERTAL TYPE: ALUM. THICKNESS: 050

DATE: 2/26/2013

DESIGNED BY:DLH

| scace:Nove

=

MATE PRECISION TOOLING

ROUND EMBOSS )
FORM-LP 112EE128-01
SET-LP_INSTRUCTIONS

MACHINE MODEL : MOT2

STATION:  E

MATERTAL TYPE: MILD STEEL | THICKNESS: 0.060"

SET ASSEMBLY

LENGTH 7O DIMENSION
FROM CHART MINUS
MATERTAL THICKNESS

NOTE: SHUT HEIGHTS
AND MATERTAL THICKNESS
VARTATIONS REGUIRE
THIS LENGTH TO BE
ADJUSTED/SHIMMED

TO SUIT FORM

|

L PUNCH HOLDER

PRESS MODEL ~ DIMENSION
FLEXILASER-------- 6.735 (171.18)
VECTRUM —=-—-----~ 6.735 (171.10)
MOTORUM -- 6.735 (171.10)
MAGNUM 5000------- 6.735 (171.10)
CENTRUM 3000------ 6.735 (171.10)
CENTRUM 2508------ 5.850 (148.8)
CENTRUM 2000------ 5.850 (148.8)
CENTRUM 1000------ 5.850 (148.8)
MAGNUM 1250-—----- 5.850 (148.8)
¥-20 -~ 5.860 (148.8)

6.735 (171.10)
6.735 (171.10)

SERTALYZS AN 1P~

INVERTED DIE

LOKWER INSERT

STRIPPER PLATE

RETAINING RING

DIE BODY

DIE SPRINGS

NOTE:

INSERT RETAINING SCREW

STATIONS ADJACENT TO THIS

FORMING SHOULD BE THE LAST OPERATION PERFORMED
PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION
DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL

ASSEMBLY MAY NOT BE USEABLE

DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL

WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE
WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TURRET

[TEMT PART NUMBER DESCRIPTION ary.
1 | XW2CDoE103 LOWER STRIPPER 1
2 XW2CDOE104 LOWER INSERT 1
3 MIS97711 RETAINING RING INTERNAL SPIRAL TYPE 2.025 OD X 0.118 WALL X 0.049 THICK SMALLEY WH-193 1
4 SPR32547 COIL SPRING MEDIUM PRESSURE 3/8 X 1 BLUE 60LB/IN+/-15% 8
5 'WD2CFU04 112 RING LOCK DESIGN FORMING UNIT C STATION DIE BODY SHAPE ASSEMBLY 1
6 FHC13538 SOCKET FLAT HEAD CAP SCREW M6x1 X 16 DIN 7991-10.9 1
7 XW2CDOE116 UPPER INSERT 1

®.093
- ¢.282
.osoj
®.170J L 60°

TooLETCH# | 02165016

XW2CDOE100

CUSTOMER | ELECTRONIC SHEET METAL CRAFTS
w@ PRECISION o s
IR=1l TOOLING MACHINE | MURATA
MATERIAL | MILD STEEL 032
mate.com e e
- DATE | 02/15/2016_JRS

112 C STATION EMBOSS FLAT TOP
ROUND UP SPRING LOADED SET
ASSEMBLY (INCLUDES; UPPER +

LOWER)

Mate Precision Tooling ¢ 1295 Lund Boulevard e Anoka e MN e 55303 e Phone 763.421.0230

1. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED 7O SUIT FORM.
2. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOLLD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TURRET |
3, STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE LISEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
4. D0 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.
5, PREVIOUS FORMS MUST BE AVOIDEQ 10 PREVENT DISTORTION.
6. FORMING SHOLLD BE THE LAST OPERATION PERFORNED.
TOP_OF PLNCH HOLDER
i !
1l I |
SET ASSEMBLY LENGTH [ |
10 6.735 ¢171.1) o I
MINUS b !
MATERIAL THICKNESS - {
[
~ INVERTED DIE
N 1
180
1.232
r— 1
LOWER INSERT
STRIPPER PLATE
RETAINING RING
MISS7757 (2)
DIE BODY
WD2EFLID!
DIE SPRINGS
3/8 x 1.0 Lg. BLUE
SPR32547 (10)
M8 x 16 Lg, FHCS
FHC13493
\. J
TEM T PART NUMBER DESCRIPTION ary.
1 XW2EDOE116 UPPER INSERT 1
2 XW2EDOE103 LOWER STRIPPER 1
3 MIS97757 RETAINING RING INTERNAL SPIRAL TYPE 3.311 OD X 0.178 WALL X 0.061 THICK SMALLEY WH-318 2
4 SPR32547 COIL SPRING MEDIUM PRESSURE 3/8 X 1 BLUE 60LB/IN+/-15% 10
5 WD2EFUO01 112 RING LOCK DESIGN FORMING UNIT E STATION DIE BODY SHAPE ASSEMBLY 1
6 | XW2EDOE104 LOWER INSERT 1
7 FHC13493 SOCKET FLAT HEAD CAP SCREW M8x1.26 X 16 DIN 7991-10.9 1
TOP OF TANG LIMITED RETURN
LR /06
SET ASSEMBLY LENGTH
TO 6.735" (171,1mm)
MIN
MATERIAL THICKNESS
7
1.400 R.030
e b
s
‘ 16°
840
CUSTOMER | ELECTRONIC SHEET METAL CRAFTS | TOOLETCH# | 02181510 /LR06
.w'“ PRECISION ACCOUNT #] 232004 XW2EDOE100
Tnoll"c MACHINE | MURATA MOTORUM 112 E STATION EMBOSS FLAT TOP
MATERIAL | MILD STEEL __ 22GA ROUND UP SPRING LOADED SET
mate_com USE wi ETCH ASSEMBLY (INCLUDES; UPPER +
DATE | 02/06/2018 DLH

Mate Precision Tooling ¢ 1295 Lund Boulevard e Anoka e MN e 55303 e Phone 763.421.0230



LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97738 (1)

DIE BODY
WD2DFLIBS

((CUSTOMER . ELECTRONIC SHEET METAL ROND EVBOSS
ACCOLNT #: 232004 ° SET-LP INSTRUCTIONS 1120E123-01 NG| PART NUMBER DESCRIPTION Qry.
— 2 XW2DDOE103 LOWER STRIPPER 1
DESIGNED BY: JES | scie Nove MATE PRECISION TOOLING | MATERIAL TYPE: ALLMINM R 3 MIS97738 RETAINING RING INTERNAL SPIRAL TYPE 2.543 OD X 0.148 WALL X 0.049 THICK SMALLEY WH-243 1
L. SHUL HEIWS ANDNMQXEEIAk THICKNESS vAEIﬁHDN& REQUIRE E‘VERALL LENETN 0 BE ADJUSTED/SHIMMEDMTDNSUIT FORM. 7 SPR32547 COIL SPRING MEDIUM PRESSURE 3/8 X 1 BLUE 60LB/IN+-15% 0
2. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOLLD BE DONE WHILE NOVING THE WORKPIECE OUT FROM LNDER THE TURRET,
3. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE LISEABLE DLE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL. 5 | WD2DFU0S 112 RING LOCK DESIGN FORMING UNIT D STATION DIE BODY SHAPE FINISHED COMPONENT !
4, 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL. 6 XW2DDOE104 LOWER INSERT 1
g‘ EEE&%E‘EXSEHETE EgX%'{EELﬁgEIHEERXEIEEEgEggugéégDETIDN 7 FHC13450 SOCKET FLAT HEAD CAP SCREW Mé6x1 X 12 DIN 7991-10.9 1
TOP_OF PUNCH HOLDER TOP OF TANG
T T
1" 1 |
\: :\ : SET ASSEMBLY LENGTH
SET ASSEMBLY LENGTH hoy | TO 6.735" (171,1mm)
0 6.735 (171.1@) b I MINUS
MINUS b ! MATERIAL THICKNESS
MATERTAL THICKNESS - {
[
~ INVERTED DIE
o O
0 .143 : % %% ;
125 T F o .136
6.8 J Lw 219

&N

—47
[12 70)

©.500

[19 05]

DIE SPRINGS
3/8 x 1.0 Lg. BLUE

SPR32547 (18)

M6 x 12 Lg, FHCS
FHC13450

ww PRECISION zgzgzm:: zEaLzEDcUIRoN\C SHEET METAL CRAFTS | TOOL ETCH #)‘(?/:\,‘/ZZOE)BE)E'] 00
IRAl TOOLING | o [ wveers 112 D STATION EMBOSS FLAT TOP
MATERIAL | ALUMINUM -080 ROUND UP SPRING LOADED SET
mate_com USE w/ ETCH ASSEMBLY (INCLUDES; UPPER +
DATE | 03/09/2020 JRS LOWER)

Mate Precision Tooling ¢ 1295 Lund Boulevard e Anoka e MN e 55303 e Phone 763.421.0230

CUSTOMER: ELECTRONIC SHEET METAL

ORDER #: 113-B1-2

ETCH #: 04042957

DATE: 4/23/04

DESIGNED BY: LMy [ scaLe:nove

(CUSTOMER . ELEC

ROUND EMBOSS )

ROUND EMBOSS
k0 | 12EE129-01

ACCOLNT #: 2321

FORM-UP 1120E129-01
SET-UP_INSTRUCTIONS

RM-LP
SET-UP_INSTRUCTIONS

ETCH #: 090581

RONIC SHEET METAL
04 °
B/CN0B

MACHINE MODEL: C-20 STATION:  E

DATE:

MACHINE MODEL : MOT2 STATION: O

09-22-05

MATE PRECISION TOOLING MATERTAL TYPE: ALLM. THICKNESS: 030

DESIGNED BY: JES

IXEALE‘NDNE MATE PRECISION TOOLING MATERTAL TYPE: MILD STEEL | THICKNESS: .060

S oo —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE OONE WHILE MOVING THE WORKPIECE OUT FROM LUNDER THE TLURRET.
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE OUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.

. D0 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

oUW —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOLLD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TLRRET |
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIOED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TOP_OF PUNCH HOLDER

SET ASSEMBLY LENGTH
TO 5.860 (148.8)

MINU
MATERTAL THICKNESS

~ INVERTED DIE

75

R. .030

LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97757 (2)

DIE BODY
VD2EFUO!

DIE SPRINGS
3/8 x 1.0 Lg. BLUE

/1
SPR32547 (18)

MB x 16 Lg, FHCS
FHC13493

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH [
006,735 (171.10) b

MINUS
MATERTAL THICKNESS

~ INVERTED DIE

@1.060
213
R .030
@ .650

LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97738 (1)

DIE BODY
WD2DFLIBS

DIE SPRINGS
3/8 x 1.0 Lg. BLUE
SPR32547 (10)

M6 x 12 Lg, FHCS
FHC13450




P

CUSTOMER:  ELECTRONIC SHEET METAL. SHAPED EMBOSS
FORM-LP

ACCT #: 232004 112EE329-01

wa
ETCH #: 09058119/CN0E

SET-UP_INSTRUCTIONS

MACHINE MODEL : MOT2 STATION:  E

[=Ad

DATE: 09/22/05

DESIGNED BY: TEW MATE PRECISION TOOLING MATERTAL TYPE: MILD STEEL | THICKNESS: 060

| scace:Nove

=YL

. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REHUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TLRRET |
. STATIONS AOJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE OUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.

. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH
0 6.735171.10) b
INU

MATERTAL THICKNESS

~ INVERTED DIE

— 570

R.030
R.030

=
L 955 /
|.268 56.615°
LOYER INSERT
/mppgp PLATE

RETAINING RING
MIS97757 (2)

DIE BODY
WD2EFUB1

DIE SPRINGS
3/8 x 1.0 Lg. BLLE
SPR32547 ( IE)

L7

M8 x 16 Lg, FHCS
FHC 134393

Emboss Tools

o] PART NUMBER DESCRIPTION ary.
1 | XW2DD0E116 UPPER INSERT 1
2 | XW2DDOE103 LOWER STRIPPER 1
3 MIS97738 RETAINING RING INTERNAL SPIRAL TYPE 2.543 OD X 0.148 WALL X 0.049 THICK SMALLEY WH-243 1
4 SPR32547 COIL SPRING MEDIUM PRESSURE 3/8 X 1 BLUE 60LB/IN+/-15% 10
5 'WD2DFU05 112 RING LOCK DESIGN FORMING UNIT D STATION DIE BODY SHAPE FINISHED COMPONENT 1
6 XW2DDOE104 LOWER INSERT 1
7 FHC13450 SOCKET FLAT HEAD CAP SCREW Mé6x1 X 12 DIN 7991-10.9 1

TOP OF TANG
SET ASSEMBLY LENGTH
TO 6.735" (171,1mm)
MINUS
MATERIAL THICKNESS
T : :
[4.76]
[0.79) .188
R.031
[3.25] [0.86]
128 R.034
,‘ [8.12] L )
319

CUSTOMER | ELECTRONIC SHEET METAL CRAFTS | TOOL ETCH # | 09180802
w" PRECISION ACCOUNT # | 232004 XW2DDOE100
IR TOOLING [ vecrine | morara MOTORUM

112 D STATION EMBOSS FLAT TOP

MATERIAL | ALUMINUM 0.063

mate .COM [useEwETeH

DATE | 09/27/2018 DLH

ROUND UP SPRING LOADED SET
ASSEMBLY (INCLUDES; UPPER +
LOWER)

Mate Precision Tooling ¢ 1295 Lund Boulevard e Anoka e MN e 55303 e Phone 763.421.0230

(CUSTOMER . ELEC RONIC SHEET METAL

SHAPED EMBOSS )

ACCOLNT #: 232004

FORM-UP 1 12EE329-02
SET-UP_INSTRUCTIONS

ETCH #: 11070106

\ J

(CUSTOMER: ELECTRONIC SHEET METAL RILAD EVEOSS L 150E 1290 ;
. @ I~ |

ALCOLNT #._232004 SET-UP_INSTRUCTIONS

ETCH #: 18120107

DATE: 10/5/12 MACHINE MODEL : MOT2 STATION: O

DESIGNED BY:JRS IXEALE‘NDNE MATE PRECISION TOOLING MATERTAL TYPE: ALLMINUM THICKNESS : 2.00

DATE:

MACHINE MODEL : MOTORUM STATION:  E

11-08-07

DESIGNED BY: JES

IXEALE‘NEINE MATE PRECISION TOOLING MATERTAL TYPE: ALLMINUM THICKNESS: 125

DU LN —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REHUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TURRET |
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.

. 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIOED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

Dus W —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TURRET |
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.

. 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIOED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH N
10 6.735171.1) b

MINUS
MATERTAL THICKNESS

~ INVERTED DIE

LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97738 (1)

DIE BODY
WD2DFLIBS

DIE SPRINGS
3/8 x 1.0 Lg. BLUE
SPR32547 (18)

M6 x 12 Lg, FHCS
FHC13450

TOP OF PUNCH HOLDER

T
|
|
i
|
|

SET ASSEMBLY LENGTH :
|

n i
06,735 (171.10) -
MINUS |
MATERTAL THICKNESS [
INVERTED DIE
| al
J L
%40 1.332

STRIPPER PLATE

RETAINING RING
MISQ7757 (2)

DIE BODY
WO2EFUBT

DIE SPRINGS
3/8 x 1.0 Lg. BLUE
SPR32547 (1)

M8 x 16 Lg, FHCS
FHC 134393




Embps

S

Tools

(CUSTOMER. ELECTRONIC SHEET METAL ROUND EMBOSS (CUSTOMER. ELECTRONIC SHEET METAL ROUND EMBOSS h
ACCOUNT #: 232004 - e mseucrion || 20290 ACCOUNT #: 232004 - e msraucrmons |20 290
ETCH 4. 11070107 ETCH 4. 11070108
DATE: 11-08-07 MACHINE MODEL : MOTORLM STATION: O DATE: 11-07-07 MACHINE MODEL : MOTORLM STATION: O
DESIGNED BY: JES IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE:  ALLMINUM THICKNESS: . 125 DESIGNED BY: JES IXEALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE:  ALLMINUM THICKNESS : 063
1. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM. I SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM,

2. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOLLO BE DONE WHILE NOVING THE WORKPIECE OUT FROM LNDER THE TURRET, 2. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOLLD BE DONE WHILE NOVING THE WORKPIECE OUT FROM LNDER THE TURRET,
3. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE LISEABLE OUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL. 3. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE LISEABLE OUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.

4. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL . 4. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL .

5. PREVIOUS FORMS MUST BE AVOLDED 0 PREVENT DISTORTION. 5. PREVIOUS FORMS MUST BE AVOLDED 0 PREVENT DISTORTION.

6. FORMING SHOLLD BE THE LAST OPERATION PERFIRMED. 6. FORMING SHOLLD BE THE LAST OPERATION PERFCRMED.

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH hoo
006,735 (171.10) b
INU

MATERTAL THICKNESS

~ INVERTED DIE

R.689

LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97738 (1)

DIE BODY
WD2DFLIOS

DIE SPRINGS
3/8 x 1.0 Lg. BLLE
SPR32547 (10)

M6 x 12 Lg, FHCS
FHC13450

TOP OF PUNCH HOLDER

SET ASSEMBLY LENGTH hoo
006,735 (171.10) b
INU

MATERTAL THICKNESS

~ INVERTED DIE

LOWER INSERT

STRIPPER PLATE

RETAINING RING
MIS97738 (1)

DIE BODY
WD2DFLIOS

DIE SPRINGS
3/8 x 1.0 Lg. BLLE
SPR32547 (10)

M6 x 12 Lg, FHCS
FHC13450




Louver |

(CUSTOMER. ELECTRONIC SHEET METAL w CLOSED END LOUVER S @2‘
ACCOLNT #: 232004 ° M -
RN TRETEE SET-UP_INSTRUCTIONS
DATE: 03-23-07 MACHINE MODEL : MOT2 STATION: O
DESIGNED BY: JES IS[ALE‘NDNE MATE PRECISION TOOLING MATERIAL TYPE: ALLMINUM THICKNESS : 062

'00IS

(CUSTOMER, _ELECTRONIC SHEET METAL w CLOSED END LOUVER oo @2‘
ACCOLNT #.232004 . [ -
S SET-LP_INSTRUCTIONS
DATE: 5/14/09 MACHINE MODEL : MOT2 STATION:  F
DESIGNED BY:JRS IS[ALE‘NDNE MATE PRECISION TOOLING MATERTAL TYPE: M.S THICKNESS : 060

EILENWENTSS

. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TURRET,
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

EILENWEN S

. SHUT HEIGHTS AND MATERTAL THICKNESS VARIATIONS REGUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.

. WHEN FORMING THIN MATERTAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LNDER THE TURRET,

. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. DO NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIDED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

\_

TOP OF PUNCH HOLDER

M3 x 25 LG SHCS
(SHCL1965) (2)

SET ASSEMBLY LENGTH

TO06.735 C171.1@) UPPER INSERT (BLADE)

MINUS
MATERTAL THICKNESS

LPPER INSERT HOLDER

W LOUVER §

~—1.180
I I ]
: j 0\ . N
[ ‘ 1

e 1.380 ——

I
i MOVE SHEET THIS DIRECTION

LOWER INSERT

STRIPPER PLATE \

DIE SPRINGS
2% 1.016. BLE ~

(SPR32723) (6)

DIE BODY

DISASSEMBLY
HARDWARE s

M4 x 40 LG (2)
(SS$480955) #x

M4 HEX NUT (2)
oo e

RETAINING RING
(MIS87562) (2)

INSERT RETAINING SCREWS
M4 x 14 LG SHCS

(SHC11932) (2) J

(CUSTOMER . ELEC RONIC SHEET METAL

CLOSED END LOLVER )

ACCOLNT #: 232004

CLRVED BACK 1146LC29-02

ETCH #: 08050115

SET-UP_INSTRUCTIONS

DATE:

08-30-05 MACHINE MODEL : MOT2 STATION: G

DESIGNED BY: JES

MATE PRECISION TOOLING MATERIAL TYPE: MILD STEEL

I SCALE:NONE THICKNESS : 060

TOP OF PUNCH HOLDER

M3 x 25 LG SHCS
(SHCL1965) (2)

SET ASSEMBLY LENGTH
O 6.735C171.1)

MINUS
MATERTAL THICKNESS

LPPER INSERT HOLDER

WLDUVER G
25—

~— 530
i I ]
‘ : 0\ . N
[ ‘ 1

I
I MOVE SHEET THIS DIRECTION
R 500 (12,7MM) ‘
2X)

LOWER INSERT

STRIPPER PLATE \

DIE SPRINGS
34y 1.0 16, BLLEE O~

(SPR33080) (6) [ DIE BODY
=T
P
el DISASSEMBLY

HARDWARE

M5 x 48 LG (2)
(SSS50008) **

MS HEX NUT (2)
oo une

i

RETAINING RING
(MIS96865) (1)

INSERT RETAINING SCREWS
M5 x 14 LG SHCS
(SHC12052) (2)

LPPER INSERT (BLADE)

J

(CusTOMER ELECTRONIC SHEET METAL

OPEN END LOUVER

!

FORMED

ALPLE LLLE up
ROER #: 263-02-02 SET-LP_INSTRUCTIONS

TCH #: 09058117

114JL029-02

\

D

MACHINE MODEL : MOT2 STATION: 114 J

ATE: 9/22/05

i

ESIGNED BY: LMy | scace:Nove MATE PRECISION TOOLING MATERIAL TYPE: M THICKNESS : @60

oUW —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TLRRET |
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIOED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

oUW —

. SHUT HEIGHTS AND MATERIAL THICKNESS VARIATIONS REHUIRE OVERALL LENGTH TO BE ADJUSTED/SHIMMED TO SUIT FORM.
. WHEN FORMING THIN MATERIAL, THE PROCESSING SHOULD BE DONE WHILE MOVING THE WORKPIECE OUT FROM LINDER THE TLRRET |
. STATIONS ADJACENT TO THIS ASSEMBLY MAY NOT BE USEABLE DUE TO THE INCREASED HEIGHT OF THIS LOWER FORM TOOL.
. 00 NOT PASS THE WORKHOLDERS OVER THE LOWER FORM TOOL.

. PREVIOUS FORMS MUST BE AVOIOED TO PREVENT DISTORTION.

. FORMING SHOULD BE THE LAST OPERATION PERFORMED.

TOP OF PUNCH HOLDER

M5 x 55 LG SHCS
(SCHL1994) (2)

SET ASSEMBLY LENGTH

TO 6,735 C171.1@) UPPER INSERT (BLADE)

MINUS
MATERTAL THICKNESS

LPPER INSERT HOLDER

f LOVER

[ 3.000 i«— 1.000
i | | T
I m
‘ | MOVE SHEET THIS DIRECTION
R 500 ‘

LOWER INSERT
STRIPPER PLATE

DIE SPRINGS
34 x 1.0 G, BLLE ™

(SPR33080) (8) [l DIE BODY
yoy
T
H -
(el DISASSEMBLY

HARDWARE

RETAINING RING
(MIS96@73) (1)

INSERT RETAINING SCREWS
M5 x 25 LG SHCS
(SHC11965) (2)

M6 x 5B LG (2)
(SSS50032) **

MB HEX NUT (2)
(NUT17793) #x

TOP OF PUNCH HOLDER

M5 x 55 LG SHCS
(SCHL1994) (2)

SET ASSEMBLY LENGTH

T0 6.735 (171.10) UPPER INSERT (BLADE)

MINUS
MATERTAL THICKNESS

LPPER INSERT HOLDER

—4.000

( LOUVER G

= 65
——— |
‘ I

11,

MOVE SHEET THIS DIRECTION

STRIPPER PLATE LOWER INSERT

DIE SPRINGS

3/4 x 1.0 LG. BLUE

(SPR33080) (10) €3 DIE BODY
£2
E=
Pt
- DISASSEMBLY
et HARDWARE

i

RETAINING RING
(MIS96129) (1)
M5 x 25 LG SH
(SHC11965) (2)

INSERT RETAINING SCREWS
S

MB x 50 LG (2)
(SS850032) **

MB HEX NUT (2)
(NUT17793)




	Sheet1
	Company Tool Book rounds for print.pdf
	Sheet2

	Company Tool Book  Oval for print.pdf
	Sheet3

	Company Tool Book for print.pdf
	Sheet2

	Rect Print.pdf
	Sheet4

	Rad Corner Rect.pdf
	Sheet5

	Single D.pdf
	Sheet6

	Keyway.pdf
	Sheet8

	Rad.pdf
	Sheet9

	dd.pdf
	Sheet7

	Connector.pdf
	Sheet10

	Cluster.pdf
	Sheet11
	05202002.pdf
	CUSTOMER
	Drawing View17
	Drawing View18
	Section View A-A


	06069098.pdf
	Cadkey
	Data Sheet
	Set-Up Instructions
	Cluster Centerline


	12980916.pdf
	Cadkey
	Data Sheet
	Set-Up Instructions






